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LeA’s sea  how it plays owt Loith 3 molecedor 'n

rep lacs,

Wb T- emert last molcde o be sampled s dea.
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molecedz is tea molecule k&
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Ex. A Junlury diplag windes o shibund
in some ket stoe on Madison Ave. el o
shiny golon ring wes sholen by one and on )y
one of 1 SM/B&’/L;_ Each of Hhemn is /n;'?l)'ajly
essume,] o be guilty woifl FNL&L;/;%)/ P=k
Vasya  Voronov is one oF the suspets. An eye
voitness dertifos Hat she sawo Fhe B
escoping i o black cor "
An Vonocent person is hlealy o drive o black
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(6 Furdher i'hm‘l‘i'jmlfof\ SL\owS ‘H\ai )/m),a s
the only one from bmons He s ,zemls who

drove ofF in a black ol [,Q[,\g;(l i S F”)é@\é//"v[?/
Hot he is gwﬂ/ now 7

Solution: et B be fhe event Swz,aeal Kk s

21,@;'/731 For K=1,2,.., L , Lohere SM/aeaI’ Hn s

Mr, Voronav/. | |
Lot &< be the et Su,sfzec}  1's JNVWB
ok black car ( l.e. OEWJ o’m‘v:‘y\ﬁ Pr‘om erime Sceng (N

o black w} Y A6
| (B ) Gn) P(Cn

(en) P(@n/gn) =L
P(5, /Gn)f(én\ +P(Bn16,5) /D(Grﬂ

R |
fl .T’_,_—/-Fo.ﬂi N l’f‘&(ﬂ-l)

I
|




()
(b) P(Gnlbf B . bS5 By) =
= P(G" Blc B‘t 6n-: Bn>
P(BB;...Bs Bn)

Observe Hat P(Ga BB B, B,) =
= P(Gn> P(EIC,GIJ P (Bflgn Bf)... P(Bnlén Bf&:.“ 6/73)

_ (, P)n-’f
pod P(BBE. BB, = ZF(GKBB 558,)

F0-0)"F +ZP(@,<3 B 8.5 By

Il

—

B A T m\

— i
- n

ohore P(GiIBB 8,5 B,) =
P(G,3F(3‘/G)P(B‘IG,B‘) P(8e 16,8585

P (86 BB B = }»w. (-2,




(#)

TAM P(Gn’ BJC B7.< Bn: B,» =

n-l
= 'n,_("PA) [o’

F-pY"F + B (1-p) (1-R)" P

I

|

+ (n-1) ey

Ex A kidneg shaly is boking o howo well hoo
di Feent trestments (Aaad b) work on smad| and
l,e‘/y, k»J/wj S‘l"on.o,g' H.am s ‘ﬂw. succes, MJQ ‘H\ai;

W e pouncl:
Treatment A Tresdment A
= 51 owt of 37 234 ouk o 270
Small sto
mall STenEs %%, $7 7
k€= 192 owte P63 | 53 ot of yo
Lorge staes 737 ARA
273 of 350 239 ok 350
’o-)'a/, "
| 7% 7o 23 %




(8)
Lohich of Hhe hoo eabmeds is botler?

Salnetiant Notice that P(A) = 0,78 and PB)= 0.9

" Mo seewn thot drestnet A is inkesror to Headmod
B, Howeres P(AIK) =043 v.s, P(BIk)= 087
indicdes Hhat Hnesdmet A s more elhective Han
hrestmet B %ou\nxf small stones

Similarly  P(AIKS) = 073 v.s. P(BIKk<) = 0.61
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Thus Panmm-mL A s &&fj

RW[(: The reason Zlaéeu Sm/( /<:’a(/ij
w;‘#\ K (s ‘M\.af /<(J24VLQ /\/t'e./hnsi'e/m s German

Por somal kfaonzas S'ILOfws,

Remark - LJA,[,L we 1e ot ‘t, 2 A'QJ'j[\/)/ /‘cc,omm_(/zj
WM}S Dre, kamw«im (7Aﬂez GJm"/’&ch&> E)/




(9)
El‘fo{n Mori'a W?b& Z%)AG/(' 71'0 I%u)[’&
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Howeves, suppose thot sholod B 15 bedo of
So/w\«\ﬂ easy suestions than shdent A ok So/mbj
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p(6<BCa) = pEIP(BIES) plcnlces)
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the siela of He cord to bﬁc}"‘/’[ﬂ‘j{oﬂ‘ For ean,f)g\

7/9\ :]umipu does not likes resl (be conge 4 resminds
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pleln) = M8
PINIE) + P(NIEL) + PINIE,)
p+o + 1| - Pt

So b the j&:'lﬂ/ hog o 10"%, Pz_g{'f C'Jlaj

/
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Ex. Frize is behind one of B curains, Condestort

prekes e curtain and then host o shoo opens one of
Hhe w00 remaining curtaing, cohuore Hhe prizs isn't found.

bt shoull Pe condestart d 7
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Solution, ot Wy - tent  condestant Loing by
Swfvlolw‘/\ﬁ onsd C.- wert prize M»\J cwrtain K
plws) = p(Uslc)ple) + p(WslC) p(c) +
+P(WslG)PlG) = 0 h+4-5+ 43
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W bock = The Grupes of Math™ via a very helphl
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_é)_ﬁ_, (,Jrf«){ an)/ 71‘000 c’:"sj/‘nc‘/' nu/mlaafS on 1LwO

Seporate shuks of poper These con be eny oo
distinct read numbers (e3. T, VZ)
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Soludions Beliee 't o on'l:’ but 1 hows the

advartage . Here is shatesy;

1) Gewemk a rendom number e [You can wsx
the norma) dictobudion or ony other number W%j
dichi budion capably of genending any real number)

) He chsemed number is lass Hhan ke

2 cAos'm ‘/’l\ﬂJ{’} ‘Hu. obelVﬁoO hu,m)az/‘ I's ‘HUL b:j},o/d'
o Hha koo that you Lorode.

D(' He obseved nuomber i [o'j}ef Han 3
1 clovim ‘H\Wt ’HUL lA/)OAbS‘Q/Y/‘QeQ nu/mbe/ 0 *IL[\.L A»’jj&‘}“

Lt A B.C be the eweork Hat k is smaly thon
botl Pumbers Kk is betwen the Moo numbers and

k is birse than Lotk rwmbers respechively.

Then PAY+P(BY+F)=4  Let (O be Hha evest
Ht 2 woin Lot oy stadey.

pw) = P(wIAMPR)+ P (LIB)p(B)+ plwlc) ple)
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Obserre, that P(WIA) =Kk  becawse 1 stay

with my choice ond I howe no v ay of /<4>oz,oin§
U the number 1 lockesd ot is he biggest,
S;W,;Lwly P(wIC) = %  becaue 1 switdd. to
the wnknown valuz  bliddly.

However P(L0IB) =4 -

- U the juml"e,p Number & {5 smally
"’L\W\‘H\k ob)’»@f‘l/‘eoj VA/{M,‘HLU'I L am in 711\:‘5 S:'?’Z«J‘foq

; I
r

= k(B
l
obseve)

Va liee
S‘f&)/z'/z,as oof# ny orzj/m,p choica INSURS, M 7 win

. J Ha WJ@J pumbes K 1's L"]}U Hon
Ha obseneol MALM&, then 1 am in Hhis situation

| : 1

® k9
I

Oloserves

Value




(22)
S‘w)’*}(/!m'n,j +o 7”[\2 MOLS«CJ‘I/?J I/A)LU{ INSures ‘/’l\pdb 1l o

plw) = % PIA) + P(B) + & P(¢)

= L (P(a)+ PBY+P(Q)) + L p(a)

= L (1+P8) > X



